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निरे्दश: निम्िलिखित आंकड़ों का ध्यािपूर्वक अध्ययि कीजिए और उसके अिुसार प्रश्ि़ों के उत्तर 
र्दीजिए। 
एक चार मंजििा इमारत में आठ िोग रहते हैं िैस ेभूति की संख्या 1 है और शीर्व मंजिि की संख्या 
4 है। प्रत्येक मंजिि में 2 फ्िैट हैं अर्ावत फ्िैट-P और फ्िैट-Q। फ्िैट-P, फ्िैट-Q के पजश्चम में है। 
मंजिि 2 का फ्िैट-P, मंजिि 1 के फ्िैट-P के ठीक ऊपर है और मंजिि 3 के फ्िैट-P के ठीक िीचे 

है और इसी तरह आगे भी। आर्श्यक िहीं कक सभी िािकारी इसी क्रम में हो। 
A फ्िैट-P में एक सम संख्या र्ािी मंजिि पर रहता है। C, A के ठीक िीचे रहता है िेककि र्दसूरे फ्िैट 
पर रहता है। C और G के बीच केर्ि एक मंजिि है। C और G अिग-अिग फ्िैट में रहते हैं। D, G 

के ऊपर एक ही फ्िैट में रहता है। H और D एक ही मंजिि पर रहते हैं। F एक ही फ्िैट में B के िीचे 

रहता है। E, F के िीचे िहीं रहता है। 
 

1. निम्िलिखित में से कौि C के ऊपर रहता है? 

A. E 

B. D 
C. B 

D. H 
E. F 

 

2.निम्िलिखित में से कौि सा िोडा एक ही मंजिि पर रहता है? 

A. G-E 

B. B-A 

C. H-C 
D. A-H 

E. उपरोक्त में से कोई िहीं 
 

3.निम्िलिखित पांच में से चार एक निजश्चत तरीके से समाि हैं और इसलिए एक समूह बिाते हैं। नि
म्िलिखित में से कौि उस समूह से संबंधित िहीं है? 

A. H 

B. B 
C. F 

D. D 
E. C 

 

4.E ककस फ्िैट और मंज़िि पर रहता है? 

A. मंज़िि 3, फ्िैट Q 

B. मंज़िि 2, फ्िैट P 
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C. मंज़िि 3, फ्िैट P 

D. मंज़िि 4, फ्िैट Q 

E. उपरोक्त में से कोई िहीं 
 

5.B के ठीक िीचे एक अिग फ्िैट में कौि रहता है? 

A. E 
B. D 

C. A 
D. C 

E. उपरोक्त में से कोई िहीं 
 

निरे्दश: निम्िलिखित प्रश्ि़ों में दर्दए गए कर्ि को सत्य मािते हुए ज्ञात कीजिए कक दर्दए गए निष्कर्ों 
में से कौि-सा/से निष्कर्व निजश्चत रूप से सत्य है/हैं और किर उसी के अिुसार अपिा उत्तर र्दीजिए। 
 

6. कर्ि: 

T ≥ F > V = B; U < H ≤ N > M ≤ J; B = G > Y = U 

निष्कर्व: 
I. V > H 

II. T < N 

A. केर्ि I अिुसरण करता है 
B. केर्ि II अिुसरण करता है 
C. या तो I या II अिुसरण करता है 
D. I और II र्दोि़ों अिुसरण करते हैं 
E. ि तो I ि ही II अिुसरण करता है 
 

7.कर्ि: 

O > I = U; H ≤ M = N ≤ B; U ≥ K ≥ J = H 

निष्कर्व: 
I. J ≤ B 

II. O > N 

A. केर्ि I अिुसरण करता है 
B. केर्ि II अिुसरण करता है 
C. या तो I या II अिुसरण करता है 
D. I और II र्दोि़ों अिुसरण करते हैं 
E. ि तो I ि ही II अिुसरण करता है 
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8.कर्ि: 

W = E = D; Q ≥ A ≥ Z; D > C ≤ K ≤ L; X = X > S < W 

निष्कर्व: 
I. W < K 

II. S < Q 

A. केर्ि I अिुसरण करता है 
B. केर्ि II अिुसरण करता है 
C. या तो I या II अिुसरण करता है 
D. I और II र्दोि़ों अिुसरण करते हैं 
E. ि तो I ि ही II अिुसरण करता है 
 

निष्कर्व: निम्िलिखित िािकारी का ध्यािपूर्वक अध्ययि करें और निम्िलिखित प्रश्ि़ों के उत्तर र्दें। 
सात व्यजक्त एक पंजक्त में एक र्दसूरे से समाि र्दरूी पर बैठे हैं। र् ेसभी उत्तर की ओर उन्मुि हैं। A और 
J के बीच र्दो व्यजक्त बैठे हैं। D, J के ठीक बायें बैठा है। D और C के बीच र्दो व्यजक्त बैठे हैं। C ककसी 
एक छोर से र्दसूरे स्र्ाि पर बैठा है। H, G के र्दायें स ेर्दसूरे स्र्ाि पर बैठा है। E पंजक्त के अंत में िहीं 
बैठा है। 
 

9. E के बायें ओर ककतिे व्यजक्त बैठे हैं? 

A. तीि 

B. एक 

C. कोई िहीं 
D. र्दो 
E. चार 
 

10.G और A के मध्य ककतिे व्यजक्त बैठे हैं? 

A. एक 

B. र्दो 
C. पांच 

D. तीि 

E. चार 
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निरे्दश: निम्िलिखित प्रश्ि में चर x और y में र्दो समीकरण दर्दए गए हैं। आपको इि समीकरणों 
को हि करिा है और x और y के बीच संबंध निधााररत करिा है। 
 

11. I. x2 + 11x + 30 = 0 
II. y2 + 4y + 3 = 0 

A. x < y 
B. x > y 

C. x ≤ y 
D. x ≥ y 

E. x = y या कोई संबंध स्थापपत िह ं ककया जा सकता है 

 
12.I. x2 + 7x − 18 = 0 

II. y2 + 9y + 18 = 0 
A. x < y 

B. x > y 
C. x ≤ y 

D. x ≥ y 

E. x = y या कोई संबंध स्थापपत िह ं ककया जा सकता है 

 

निरे्दश: निम्िलिखित जािकार  का ध्यािपूर्ाक अध्ययि करें और दर्दए गए प्रश्िों के उत्तर र्दें। 
िीच े र्द  गई तालिका र्र्ा 2019 में चार र्दकुािों J, K, L और M द्र्ारा बेच ेगए हेडफोि और 
स्पीकर की संख्या के बारे में जािकार  र्दशााती है। 

 
 

13. J और M द्र्ारा लमिाकर बेच ेगए हेडफोि की कुि संख्या का K और L द्र्ारा लमिाकर बेच े
गए कुि स्पीकरों की संख्या से अिुपात क्या है? 

A. 15 : 16 
B. 20 : 23 

C. 33 : 32 
D. 17 : 16 

E. 10 : 9 

 

14.J द्र्ारा बेचे गए स्पीकरों की संख्या, K द्र्ारा बेचे गए हेडफोिों की सखं्या से ककतिे प्रनतशत 
अधधक है? 
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A. 55% 

B. 50% 
C. 37.5% 

D. 44% 

E. इिमें से कोई िह ं 
 

15.J, L, M द्र्ारा बेचे गए स्पीकरों की औसत संख्या और L और M द्र्ारा बेचे गए हेडफोि की 
औसत संख्या के बीच ककतिा अंतर है? 

A. 92 
B. 85 

C. 72 
D. 65 

E. इिमें से कोई िह ं 
 
निरे्दश: निम्िलिखित प्रश्ि में प्रश्िर्ाचक धचह्ि '?' के स्थाि पर क्या आिा चादहए? 

 

16. (? का 20% + ) ÷ 7 = 14 

A. 420 
B. 350 

C. 210 
D. 280 

E. 250 
 

17.550 का 90% =? −175 का  

A. 650 
B. 605 

C. 585 
D. 570 

E. 545 
 

18.महेश िे एक र्स्तु को 20% की हानि पर बचेा। यदर्द र्ह उस र्स्तु को 135 रुपये अधिक में बेच
ता, तो उसे 25% का िाभ होता। उस र्स्त ुका क्रय मूल्य (रु. में) ज्ञात कीजिए। 
A. 300 
B. 400 

C. 360 
D. 440 

E. इिमें से कोई िहीं 
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19.एक रेिगाडी एकसमाि गनत से 120 मीटर िंब ेप्िेटिामव को 18 सेकंड में पार करती है और 18

0 मीटर िंबे प्िेटिॉमव को 20 सेकंड में पार करती है। टे्रि की गनत है 
A. 72 ककमी/घंटा 
B. 90 ककमी/घंटा 
C. 60 ककमी/घंटा 
D. 108 ककमी/घंटा 
E. इिमें से कोई िहीं 
 

20.18 व्यजक्तय़ों की औसत आय ु20 र्र्व है। िब र्दो व्यजक्त जििकी आय ु7:3 के अिुपात में है, उ
िके सार् शालमि हो िाते हैं, तो औसत आयु में 6 महीिे की र्दृ्धि हो िाती है। उिमें शालमि होिे 
र्ािे व्यजक्तय़ों की आय ुके बीच का अंतर ज्ञात कीजिए। 
A. 10 र्र्व 
B. 12 र्र्व 
C. 18 र्र्व 
D. 20 र्र्व 
E. 15 र्र्व 
 

 
Direction: In the given question, a part of the sentence is printed in bold. 

Below the sentence, alternatives to the emboldened part are given as (A), (B), 
(C) and (D), which may help improve the sentence. Choose the correct 

alternative out of the given five options. In case the given sentence is correct, 
your answer will be option (E), i. e. , "No correction required".  

 
21. The president has sent a message off sympathy to the relatives of the 

dead soldiers. 

A. have sent a message of sympathy 
B. has sent a message of sympathy 

C. has sent a massage of sympathy 
D. have send a message of sympathy 

E. No correction required 
 

22.A young girl was crying, protest that she didn't want to leave her 
mother. 

A. protests that she didn't wants 
B. protesting that she don't want 

C. protesting that she didn't want 
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D. protested that she didn't wanting 

E. No correction required 
 

23.The government has promised to match the money raised by the charity 
pound of pound. 

A. the charity pound for pound 
B. the charity pound to pound 

C. the charity pound with pound 
D. the charity pound by pound 

E. No correction required 
 

24.Thanks to a large gift from an anonymous donor, the charity was able to 

continue their work. 
A. were able to continue its work 

B. was able to continues its work 
C. was able too continue its work 

D. was able to continue its work 
E. No correction required 

 
Direction: Read the sentence to find out whether there is an error in it. The 

error, if any, will be in one part of the sentence. The number corresponding 
to that part will be your answer. If the given sentence is correct as it is, mark 

the answer as ‘No error’. Ignore the errors of punctuation, if any.  
 

25. The government has finally (1)/ announced its policy in (2)/ the regulation 
of the (3)/ financial services industry.(4) 

A. 1 

B. 2 
C. 3 

D. 4 
E. No Error 

 
26.In the space of just (1)/ ten years, her company (2)/ has grew from one 

small (3)/ shop to a multi-million-pound empire. (4) 
A. 1 

B. 2 
C. 3 

D. 4 
E. No Error 

 
27.After criticism for being (1)/ slow to respond to changes (2) in the market, 

the company (3)/ replied at a major restructuring.(4) 

A. 1 
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B. 2 

C. 3 
D. 4 

E. No Error 
 

28.She admitted her company's (1)/ responsibility for a disaster and (2)/ went 
on to explain how compensation (3)/ would be paid to the victims. (4) 

A. 1 
B. 2 

C. 3 
D. 4 

E. No Error 

 
Direction: In the given statement some words have been highlighted. These 

words may not be at the correct place making the sentence grammatically and 
contextually incorrect. Choose the option which represents the correct 

sequence of words, which will make the sentence grammatically and 
contextually correct. If the sentence is correct as it is, choose E i.e. ‘No 

rearrangement required’ as your answer.  
 

29. The partnership was at first continues (A) pursued, for instance through 
administrative employees exchanges (B), and actively (C) today at a 

lower, but constant, level. 
A. ACB 

B. BAC 
C. BCA 

D. CBA 

E. No rearrangement required 
 

30.She bought (A) the expense by saying that the rationalized (B) carpet 
she had costly (C) would last longer than a cheaper one. 

A. BCA 
B. CBA 

C. BAC 
D. ACB 

E. No rearrangement required 
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###ANSWERS### 

 
1. Ans. C.  

 
2. Ans. B.  

 
3. Ans. D.  

 
Only D lives in Flat-P. 
4. Ans. C.  
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5. Ans. A.  

 
6. Ans. E.  
T ≥ F > V = B = G > Y = U < H ≤ N > M ≤ J 

Conclusion: 
I. V > H → does not follow V = B = G > Y = U < H 

II. T < N → does not follow T ≥ F > V = B = G > Y = U < H ≤ N 

7. Ans. A.  
O > I = U ≥ K ≥ J = H ≤ M = N ≤ B 

Conclusion: 

I. J ≤ B → follows as J = H ≤ M = N ≤ B 
II. O > N → Does not follow as O > I = U ≥ K ≥ J = H ≤ M = N 

8. Ans. B.  
Q ≥ A ≥ Z = X > S < W = E = D > C ≤ K ≤ L 

Conclusion: 

I. W < K → Does not follow W = E = D > C ≤ K 
II. S < Q → follows Q ≥ A ≥ Z = X > S 

9. Ans. B.  
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10. Ans. D.  

 
11. Ans. A.  
I. x2 + 11x + 30 = 0 

⇒ x2 + 6x + 5x + 30 = 0 

⇒ x(x + 6) + 5(x + 6) = 0 

⇒ (x + 6)(x + 5) = 0 

⇒ x = −6, −5 

II. y2 + 4y + 3 = 0 

⇒ y2 + 3y + y + 3 = 0 

⇒ y(y + 3) + 1(y + 3) = 0 

⇒ (y + 3)(y + 1) = 0 

⇒ y = −3, −1 

Hence, x < y. 

12. Ans. E.  
I. x2 + 7x − 18 = 0 

⇒ x2 + 9x − 2x − 18 = 0 

⇒ x(x + 9) − 2(x + 9) = 0 

⇒ (x – 2)(x + 9) = 0 

⇒ x = 2, –9 

II. y2 + 9y + 18 = 0 

⇒ y2 + 6y + 3y + 18 = 0 

⇒ y(y + 6) + 3(y + 6) = 0 

⇒ (y + 6)(y + 3) = 0 

⇒ y = −6, −3 

Hence, no relation can be established. 

13. Ans. C.  

Required ratio = (2500 + 2450) : (2100 + 2700) = 4950 : 4800 
= 33 : 32 

14. Ans. A.  

Required percentage =  = 55% 
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15. Ans. B.  

Average number of speakers sold by J, L, M =  =  

= 2080 

Average number of headphones sold by L and M =  

= 1995 
Required difference = 2080 – 1995 = 85 

16. Ans. B.  

(20% of ? + ) ÷ 7 = 14 

⇒ ÷ 7 = 14 

⇒  = 14 × 7 

⇒  + 28 = 98 

⇒ = 70 

⇒ ? = 70 × 5 = 350 

17. Ans. E.  

90% of 550 =? −  

⇒  = ? −  

⇒ 495 = ? – 50 

⇒ ? = 495 + 50 = 545 

18. Ans. A.  

Let x be the cost price 
Old selling price + Rs. 135 = New selling price 

80% of x + Rs. 135 = 125% of x 
45% of x = Rs. 135 

x = Rs. 300 
19. Ans. D.  

Let the length of the train be x metre. 
Speed of the train = (X+120)/18 = (X+180)/20 

⇒ 10x + 1200 = 9x + 1620 

⇒ x = 420 

∴ Speed of the train 

= (420 + 180)/20 = 30 m/s 

= 30 × 18/5 = 108 km/hr 
20. Ans. D.  

Sum of the ages of 18 persons = 18 × 20 = 360 years 
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Let the ages of two persons who joined them = 7x years and 3x years 

respectively 
According to the data provided in the question, we get: 

(360 + 7x + 3x)/20= 20.5 
⇒360 + 10x = 410 

⇒10x = 50 

⇒x = 5 

Required difference between the ages = (7 – 3) × 5 = 20 years 
21. Ans. B.  

The bold part needs to be improved. 
* We need preposition ‘of’ here. 

* The given sentence is in present perfect tense. 
* The subject here, is singular, so, it needs a singular auxiliary verb after it 

i.e., ‘has’. 
* Moreover, third form of the verb should be written after auxiliary verb. 

* Here, we are talking about a short piece of information not rubbing and 
pressing someone's body. Thus, option c is also incorrect. 

* Therefore, ‘has sent a message of sympathy’ is the suitable one. 
Hence, option B is the correct answer. 

22. Ans. C.  
The bold part needs to be improved. 

* The given sentence is in past tense. And verb given before highlighted part 

is in continuous form. 
* So, to maintain parallelism, we will go with ‘protesting’. 

* Thus, eliminating a, d and e options. 
* Moreover, with singular subject, we use singular verb and when the sentence 

is in past tense, in this case, we use ‘did’. 
* Thus, ‘protesting that she didn’t want’ is the suitable one. 

Hence, option C is the correct answer. 
23. Ans. A.  

The bold part needs to be improved. 
Match something pound for pound is an idiom which means to give one pound 

for every pound given by someone else. 
Thus, ‘the charity pound for pound’ is the suitable one. 

Hence, option A is the correct answer. 
24. Ans. D.  

The bold part needs to be improved. 

Here, charity is singular noun, so, singular auxiliary verb should be used after 
it. 

And as it is considered singular, we require pronoun 'its'. 
We use 'to+ base form of the verb'. 

Thus, ‘was able to continue its work’ is the suitable one. 
Hence, option D is the correct answer. 
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25. Ans. B.  

Preposition ‘in’ has been used incorrectly. Preposition ‘on’ should be used in 
place of it. 

Policy is a set of ideas, or a plan of what to do in particular situations, that 
has been agreed officially by a group of people, a business organization, a 

government, or a political party. 
So, we policy of something not ‘in’. 

26. Ans. C.  
The given sentence is in present perfect tense. 

And in present perfect tense, we use third form of the verb after auxiliary verb 
‘has/have’. 

So, ‘grown’ should be used in place of ‘grew’. 

27. Ans. D.  
Preposition 'at' has been incorrectly used here. 

It should be replace by preposition 'with'. 
Reply with something means to react to something that someone has done. 

28. Ans. B.  
Here, error lies in the incorrect usage of article. 

Disaster mentioned here, is specific or particular or known. 
So, article 'the' should be used in place of 'a'. 

29. Ans. D.  
The correct answer is option D. 

Two verbs like this can’t be placed together. So, one need to be replaced. 
It would be better if we use adverb ‘actively’ in place of verb ‘continue’. 

Only option with C at its first option is D. 
The sentence should be :- The partnership was at first actively pursued, for 

instance through administrative employees exchanges, and continues today 

at a lower, but constant, level. 
30. Ans. A.  

The correct answer is option A. 
None can buy an expense. So, this is grammatically incorrect. 

But, yes, a thing or item can be bought. For example, here, we are talking 
about the carpet, and one can buy a carpet. 

So, brought is most suitable at third highlighted part. 
However, we can rationalize our expenses. 

Rationalize is a verb which means to try to find reasons to explain your 
behaviour, decisions, etc. 

The sentence should be :- She rationalized the expense by saying that the 
costly carpet she had bought would last longer than a cheaper one. 
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